¥ EEAT I (E28%F7A38 (H) :SEISIUR)
1 2 3 4 5 6 7 8 9 10 | 11 | 12 |&&t| E
T 0 0 0 0 1 2 2 1 2 8 2
IS ZEPKRER 0 0 0 0 0 0 2 0 1 3 -
MIWUEBSHRES | O 1 0 0 3 0 1 0 X 5 -
T 0 1 0 2 4 0 1 0 X 8 0
(BFF] <MPLUESKRRE> "F NI
1| =M@ K& 1E | 2/ | 36 | 46 | 5E | 6E | 7E | 8E | 9E || 78 | =3T | #1m | B2 | %K
1 9 SEHE | R | A Rl | PR 4 1
2 4 | =EEKER | #5310 i\ BT | PR 3
3 3 FEHX |—10 =i a= i 4 2 1 1
4| DH RiB “E |=3m a= L==a) 3 1 1
5 5 TVHER —1'o ERixa| FOER =51 2 1 1
6 2 | JKEME—EB —E il | AR —I'n 4 1
7 7 EORE 1Em mEk | b =ix 2 1 2
8| 6 | BHERF Rl =R | AR = 4 1
9 8 Foy NN ok =ix e ST 3
X1 =ARIEE
[IF] <MMUEERRE>
K4 E1% 18 |IRERE| =IT | smm | 4RIT (MUEEK| =iR | k| |BES| (BREF] SFEXE
FEKHE o[l 36 | 152 8 (1) 4 7 3 3 [Z84T] M. FHX
[=847]
[FE247]
(#HF] <MPLUESKRRE>
K& RER FAE e et BER
JKEBE—EB 2
[(BFF] <BIBEXAFT 1 HIL>
1| =M@ K& 1E | 2/ | 36 | 46 | 5E | 6E | 7E | 8E | 9E || 78 | =37 | #1m | B2 | %K
1 8 LN I 1% 5 JE) BE10 W10 il 3 1 (1)
6 B —T.0 VST i 10 4 1
2 ARE | =10 =i —1n W10 4
4 5 Yl =i ® =R 3
H Lid;c3 g 1 1
. DH UNIIPN ok gl gl —1of| 3 2
R Bt
7 /NS —1'0@) FR7R HR mEk | 3 1 2 (1)
7 3 pilIfES e 1 =R =R —I1'o)| 4 1
9 =H =R ER | =R o)) 4 1 1
4 ] 1
9 H KF PUEK:«1
R-4 “#0 Al iR | #E1°0) 3 1
X1 EEHISE
(%F] <BEEXAT 1 HIL>
K4 E1% 18 |IRERE| =T | smm | 1RIT (MIEEK| =IR | k= |BES| [BUREF] &k
K 5[m] 26 | 99 7 2 3 3 3 3 [Z£847]
NIIE 3@ 10 | 41 1 2 2 1 1 [=847]
[RE1T] HWE
[#F] <BEXAT 1 HIL>
K& R I8hE et BER
A{RH 1




